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(H-a') = B * >L . M30-0
o E oEv2] Sysky 1.34 % 0.85 % 21.50 24.5 | cl=01m| ¢ =
! 0.25
i H + B R V3 24.5 | Reso-0
C1 * B * L | c2 = 0.15 m|
o8 =[va M30-0 010 * 0.8 * 21.50 1.8 I
G2 * B * 2L .
# w18 E[Vs RC40-0 015 * 0.8 * 2150 2.7 R EEN)::L ) d= H =
KEER— B EERERE) d * B x Il (0.0) |KBIHEIZT (H-a') = T i XIKEET L 0.59 1.39
# W o1# E|ve RC40-0 0.59 % 0.8 * 2150 10.8 |5t £ 1.34 m| !
& E19cm E * IL l
oW oE RV RC40-0 0.300 * 21.50 6.5 - RC40-0
REER ERE + B » BREER | E-03m
oW oE R RC40-0 0.100 * 0.85 % 21.20 1.8
e =
0.50
Ok EER—BmERZERE) (24.5)
B FARIEPFIS Y, ——r 24.5 iﬁE%E%ZWCm
WERE IR TS 0.85 * 21.50 18.3 |
F * >L
g% MY B 2 * 2150 43.0
7 H a_ | a C d = BT [ 18 e E a : HEREEE
HEE IR R c BREE
oK E ¢1=0. 1 RE 0.2 H-a—c-d 0. 85%(0.5-0. 1) d %4+, EBEEAME
#18 @l | c2=0. 15 &[S - 0.003 -0.04] e : EBE+SLI9nERE
a’ : SHEEMIEHEIE
B B 0.05 0.05 0.25 0.59 0.04 0.50 0.300 | H :#EHIZR
KEEE B T Tm) ERTE
KB — i L2 0.85 0.59 21.5 10. 8
1B R S84 + iR




) 1F =3 T T it =1 == (SRl - BWEEE A HIEE)
I = 4 - BEFUESRTKEEMEZISE RS- By S1010/&4EY
B =0.65m
] B i& Al it " = o =
w ' T(N«I) /2N HEA | BR
T oty E E| .17/ 2 3.85 a'= 2 N | emaies a =
& & H - KEHNE - 0.05 m =R imA I =R AIE 0.05
E ¥+ Y[ h 1.39 - 0.206 - 1.08 I /
' M30-0
Ty H R S| h? 0. 80 | ¢l =0.1m c =
G (hi+h2) / 2 I 0.25
F iy i B E| h 1.88 /2 0.94 MR ' RC40-0
B * | | c2=0.15m
S OE MR OIE BV 0.65 % 3.85 2.5 I
(h-a’) * B x 1/2 . =
oW E EVve 0.89 % 0.65 % 1.93 1.1 h-a’ = | R0 d = 0. 94
(h-a’) * B  * 1/2 0.89 m ! 0.17
A H B HIV2 0.8 * 065 % 1.93 1.1 |
C1 * B’ * | |
oW 1 RV M30-0 0.10 * 0.65 * 3.85 0.3 EEPEPL)
2+ B * | Anma | E =026
B oW 1B RV RC40-0 0.15 * 0.65 * 3.85 0.4 e =
d x B * | 0.47
B oW B R[S RC40-0 0.17 % 0.65 % 3.85 0.4
E * [
B oW 1® RE|V6|yvyiarE®| 0276 x 3.8 1.1 !
V2 + V2
B+ o B VAL TrSys| 11+ 1T 2.2
B * Y (NxI)
GEREIBTE 0.65 *x 7.7 5.0
T * T (WD
oK% RO M 2 x 1.1 15.4
E__H a | a c d s e E a : WERERE
HEIRIE c  HREE
% E ¢1=0.1 | h-a—c-¢’ |m#® :0.155[0.3 + 0.155 0. 65%0. 47-0. 03 d : %4£+ BERAME
I8 EE | c2=0.15 &/E : 0.005 +0.005% 2 e WERE
a' : SHEMIEHIE
¥ B 0.05 0.05 0.25 0.17 0.03 0.47 0.276 h : BEIE




¥~ v ik — L B E R

I E %  BEFLEIRTKEERFIE RS- By S1010/&4EY
& E fF (F EE B E e oy % Bl 7L % ﬂ;g AL
ANAES [ & A || AFLE|E kR 60 | 90 | 120{ 150 180{ 210|240 30 | 60 | 90 || 45| 60 || 10 [ 15| 20 g @ 150 | ¢ 200R #5 2A777
No. 1010-1 INEY 1.20 1

No. 1011-1 INEY BEER

A

op
i




¥ v ik — I B B K
I £ £ @ BEFULESRTKEEMHZISERS-) B S1010/FEY .
% fE (B B e || mE i % G- O P E—
&5 ~—o |l A7zl #R|| 60 | 90 | 120] 150 180] 210] 240]f 30 | 60 [ 90 [ 45| 60 || 10 | 15| 20 || = |[¢ 150 |4 200R] F 5
No, 1 3mLLF
12 No, 2 15 | smigdnil T
&t AmEB5SMLL T
No, 1 LT
28 No, 2 2% | amgB5mEL T
it SmEB6mLL T
No, 1 AmLL T
38 No, 2 3% |ami5mLLT
5t SmER6mLL T
No, 1 2m T
%1 No, 2 25‘} ImE3MLL R
it 3mEBAmLL T
No, 1 INE 2mEL T
05 No, 2 2miB3. SmLL T
B S0 | ¢200R
& & A SitE & Pt 5
SNEIE
NEE




= A
H E B B =
e
®xBL mrzrner| JRAET FEBET |ssseseamac)| HS0E(mM) |[SEERRYIEI (m) RE#R T (m)
BEES | ER - 7ar-7 %
14=b=30; 3.0<b | 3.0<b 3m/100mii6mi/100m| As15cmBL T Co As  |Cot5emilT!Ast5cmBELT SR(E1)W150] TZR(3)W150] F4R(F)W200} €T S(EWAs0} X515 KED
1 5@ 165.5 571 571 28.6 6.3 17.0
3BT 74.8 196 196 9.8 6.2
i 240.3 196 571 767 38.4 12.5 17.0
[ ¢:2) 196 571 767 38 12 17
Eiyd
T BEERELE T NIERCIE T | hsimms@uinsa () IS (m SHBEND LT T XE#ET
BEES TE =[E emer | PRAX T@EE : B '~ | ATRE(m)  |(FHERYIETT (m) N X E#R (m% _ : .
14=b=30}{ 3.0<b | 3.0<b 3m/100mi6m/100m| As15cmBLTF Co As Col5ecmEL T} As15cmIA T SR4R(EW150] SE4R(E)W150] SEAR(FIW200] £ T 5(EIWA50] XF- 55+ KED
1S & 571 17
25 & 39.5 92 92 93 4.7 74
35T 25.8 110 306 110 55 1
5 65.3 92 110 969 203 10.2 7.4 17.0 1.0
- 0.9) 92 110 969 203 10 7 17 1
A E
[=1:]
=ET EnzeweT| FRAET TEEET |sssammasao)| HSNE(mM) |$HERYIET (m) XE#R T (m)
BRiRES TR 72h-7 B
14=<b=30! 3.0<b | 3.0<b 3m/100mi6m/100m| As15cmBL T Co As  |CotscmilTiAs15emEL T SEA(EIIW150] SEAR(HW150! SEHR(HIW200! £TS5(EIW450} X125 D
305.6 288 681 969 970 48 19 17 18




B EEMEHEE 1B 37 (B - BRI)

WAL B BRHE FET (As)d  |FREET #MEHt=3cn) |MEARMER: (As) t=5cn ) =
B [B.P1 3.60 3.60 3.60 O HiZEh o (As)
Z [B.P1+10.0 10.00|  3.15 33.8 3.15 33.8 3.15 33.8 3.6+ 2.7 = [ 6.3n
B [B.P1+10.0 3.05 3.05 3.05 O &iEEREIET (Co)
= [No. 1 10.00]  3.10 30. 8 3.10 30. 8 3.10 30. 8 = m
B |No.1 3.10 3.10 3.10 m
= [No. 146.0 6.00] 3.50 19.8 3. 50 19.8 3. 50 19.8[0 a7 g
B [No. 1+6.0 3.50 3.50 3.50 17.0 = [ 17]n
= [No. 148. 4 2.40]  3.80 8.8 3. 80 8.8 3. 80 8.8
A [No.1+8.4 3.80 3.80 3.80 O Xk
% |No. 1+16.8 8. 40 3.80 31.9 3.80 31.9 3.80 31.9 SMAFR (FEHR H W=15cm)  17.0 = 17.0m
B |No.1+16.8 3.65 3.65 3.65
= [No. 2 3.20  3.70 11.8 3.70 11.8 3.70 11.8
B |No.2 3.70 3.70 3.70
= [No.2+1.8 1.so| 3.70 6.7 3.70 6.7 3.70 6.7|O AR (FE T - REEET)
B |No.2+1.8 3. 80 3. 80 3.80 1B AFL 0.70%0.70%3.14/4 % 1 = 0.38
= [No.2+8.0 6.20] 3.70 23.3 3.70 23.3 3.70 23.3 INVBIATL  0.42%0.42%3.14/4 % 7 = 0.97
B |No.2+8.0 3. 60 3.60 3. 60 JaREIE 0.37%0.37#3.14/4 % 1 = 0.11
% |No. 3 12.00f  4.70 9.8 4.70 9.8 4,70 149.8 B =b V=GR 0. 15%0. 42 ¥ 18 = 1.13
B |No.3 4.70 4,70 4.70 CoBERtE 0. 40%0. 25 ¥ 1 = 0.10
= [No.3+1.3 1.30] 4.9 6.2 4,90 6.2 4,90 6.2 =D 0. 40%0. 20 % 1 = 0.08
B |No.3+1.3 4,90 4,90 4.90 @ 0. 55%0. 80 1 = 0.44
= (No.3+10.0 8.70] 3.15 35.0 3.15 35.0 3.15 35.0 Fae) 0. 40%0. 20 % 1 = 0.08
B [No.3+10.0 3.15 3.15 3.15 ot
= [No.4 10.00]  2.80 29.8 2.80 29.8 2.80 29.8
B |No.4 2.80 2.80 2. 80
= [No.4+8.5 8.50] 3.15 25.3 3.15 25.3 3.15 25.3
A [No.4+8.5 3.15 3.15 3.15 O TEFEFERR (G RRAE A
= [No.5 11.50]  3.60 38.8 3. 60 38.8 3. 60 38.8 INVBIATL  0.42%0.42%3.14/4 % 1 = 0.14
B |No.5 3. 60 3. 60 3.60 i ke 0.52%0.52%3.14/4 % 1 = 0.21
= [No.5+14.8 14.80]  3.65 53.7 3.65 53.7 3.65 53.7 HHEIF (8) 0. 60%0. 60 ¥ 1 = 0.36
B |No.5+14.8 3.75 3.75 3.75 1Ak 0.16%0. 16%3.14/4 % 3 = 0.06
2 |No. 5+19. 2 4.40]  3.60 16.2 3. 60 16.2 3. 60 16.2 B =b V- BERE 0. 15%0. 42 * 18 = 1.13
B |No.5+19.2 3.90 3.90 3.90 CoBERtE 0. 40%0. 25 ¥ 1 = 0.10
= [No. 6 0.80]  3.90 3.1 3.90 3.1 3.90 3.1 =D 0. 40%0. 20 % 1 = 0.08
B |No.6 3.90 3.90 3.90 @ 0. 55%0. 80 1 = 0.44
= [No. 7 20.00]  3.50 74.0 3. 50 74.0 3. 50 74.0 Fae) 0. 40%0. 20 % 1 = 0.08
B No.7 3.50 3.50 3.50 ot
= |No. 745. 1 5.100  3.40 17.6 3. 40 17.6 3. 40 17.6
B |No.7+5.1 3.15 3.15 3.15
= [No. 749. 4 1.30]  2.85 12.9 2.85 12.9 2.85 12.9
B |No.7+9.4 2.85 2.85 2.85
= [No. 8 10.60]  2.80 29.9 2.80 29.9 2.80 29.9
B |No.8 2.80 2.80 2. 80
= [No.8+5.5 550 2.75 15.3 2.75 15.3 2.75 15.3
(E.P1)
R PR E
Eis 165.5 | 3.47 574.5 574.5 574.5
e 3.3 3.3 2.6
A 571.2 571.2 571.9
SEEE IHEAE (nf)

w 571 571 571

HZHE (nf) t=5cm

As 28.6




WE@DHEHESE

25T (B - BM)

WAL B BRHE FET (As)d  |FREET #MEHt=3cn) |MEARMER: (As) t=5cn ) =
B [B.P2 3.60 3.60 3.60 EZERREIMT (As)
% |B.P2+1.9 1.90]  3.10 6.4 3.10 6.4 3.10 6.4 6.1 + 1.3 = [ 7. 4]n
B [B.P2+1.9 3.10 3.10 3.10 EZEREIMT (Co)
 |B. P2+13.2 11.30]  2.50 31.6 2.50 31.6 2.50 31.6 = m
H [B.P2+13.2 2.50 2.50 2.50 m
F [No. 1 6.80] 3.00 18.7 3.00 18.7 3.00 18. 7|0 7ap-7" i@
B [No. 1 3.00 3.00 3.00 = [ In
 |No. 140. 6 0.60[  3.00 1.8 3.00 1.8 3.00 1.8
B [No. 1+0.6 3.00 3.00 3.00 X iR
Z |No. 146. 6 6.00[  1.90 14.7 1.90 14.7 1.90 14.7 = m
B |No.1+6.6 1. 90 1. 90 1.90
F |No. 148. 2 1.60]  1.90 3.0 1.90 3.0 1.90 3.0
B |No.1+8.2 1.60 1.60 1. 60
% |No. 1+14.5 6.30 1. 50 9.8 1. 50 9.8 1. 50 9.8 R (R L - REEEIET)
B [No.1+14.5 1.50 1.50 1.50 ety g 0.28%0.28%3.14/4 % 3 = 0.18
F |No. 1417. 0 2.50[  1.50 3.8 1.50 3.8 1.50 3.8 kAR 0.16%0. 16%3.14/4 % 2 = 0.04
B [No. 1+17.0 1.35 1.35 1.35 ot
% [No. 1+19. 5 2.50[  1.30 3.3 1.30 3.3 1.30 3.3
(E. P2) T FEAE R (B RACAM )
i m
PEEE PR S
E 39.5 2. 36 93.1 93.1 93.1
Pk 0.2 0.2
exis 92.9 92.9 93.1
SEEE IHEAE (nf)

Gig) 92 92 93

HZHE (nf) t=5cm

As 4.7




WE@DHEHESE

35 HEFT (FBh - BR)

WAL B BRHE FET (As)d  |FREET #MEHt=3cn) |MEARMER: (As) t=5cn ) =
A [B.P3 3.20 3.20 3.20 EhHEERR eI (As)
% |B.P3+1.4 1.40]  2.70 4.1 2.70 4.1 2.70 4.1 2.7 + 3.5 = [ 6.2|n
B [B.P3+1.4 2.70 2.70 2.70 SHERR BT (Co)
2 |B.P3+2.9 1.50]  2.60 1.0 2. 60 4.0 2. 60 4.0 = m
B [B.P3+2.9 2. 60 2. 60 2. 60 m
= |B.P3+3.8 0.90] 2.30 2.2 2.30 2.2 2.30 2.2|0 77 mm
B B P3+3.8 2.30 2.30 2.30 = [ In
25 |B.P3+16.0 12.20]  1.90 25.6 1.90 25.6 1.90 25. 6
H [B.P3+16.0 2.10 2.10 2.10 X
= [B.P3+16.6 0.60] 2.30 1.3 2.30 1.3 2.30 1.3 = m
B [B.P3+16.6 2.30 2.30 2.30
= [No. 1 3.40] 240 8.0 2. 40 8.0 2. 40 8.0
B [No.1 2. 40 2. 40 2. 40
% |No. 1+3. 4 3.40 2.35 8.1 2.35 8.1 2.35 8.1 R (R L - REEEIET)
B [No.143.4 2.35 2.35 2.35 TEAFL  0.70%0.70%3.14/4 * 1 = 0.38
= [No. 143.8 0.40] 2.15 0.9 2.15 0.9 2.15 0.9 INEAFL  0.42%0.42%3.14/4 % 3 = 0.42
B [No.143.8 2.15 2.15 2.15 JaREIE 0.37%0.37#3.14/4 * 1 = 0.11
E |No.1+12.8 9.00]  2.65 21.6 2.65 21.6 2.65 21.6 ot
B [No.1+12.8 2.65 2.65 2.65
= [No. 2 7.20] 240 18.2 2. 40 18.2 2. 40 18.2
A [No.2 2. 80 2.80 2. 80 TR (B 2SR A
= [No.245.5 550 3.00 16.0 3.00 16.0 3.00 16.0 A=A W7 0.23%0. 23%3.14/4 % 1 = 0.04
B [No.2+5.5 2.80 2.80 2.80 1Ak 0.16%0.16%3.14/4 % 1 = 0.02
E |No.2+6.4 0.90]  2.60 2.4 2. 60 2.4 2. 60 2.4 ot
B [No.2+6.4 2. 60 2. 60 2. 60
= [No. 3 13.60]  2.60 35.4 2. 60 35.4 2. 60 35.4
B |No.3 2. 60 2. 60 2. 60
= [No. 3+4. 4 1.40]  2.90 12.1 2.90 12.1 2.90 12.1
B [No.3+4.4 2. 60 2. 60 2. 60
= [No.3+7.9 3.50]  2.60 9.1 2. 60 9.1 2. 60 9.1
B [No.3+7.9 3.20 3.20 3.20
= [No. 3+9. 1 .20  3.40 1.0 3. 40 4.0 3.40 1.0
B [No.3+9.1 3. 40 3. 40 3. 40
= [No.3+12.0 2.90]  4.40 1.3 4. 40 1.3 4. 40 1.3
B [No.3+12.0 4.40 4. 40 4. 40
= [No.3+14.8 2.80]  4.70 12.7 4.70 12.7 4.70 12.7
R PR E
Eid 74.8 | 2.63 197.0 197.0 197.0
PR 0.9 0.9 0.1
At 196. 1 196. 1 196.9
SEEE IHEAE (nf)

w 196 196 196

HZHE (nf) t=5cm

As 9.8




B EEMEHEE 3EEFT (A - RR)

WAL B BRHE FET (As)d  |FREET #MEHt=3cn) |MEARMER: (As) t=5cn ) =
B [No.3+14.8 4.70 4.70 4.70 O EhEER G (As)
= |No.3+17.3 2.50|  4.70 1.8 4.70 1.8 4.70 11.8 = [ In
B [No.3+17.3 5.25 5.25 5.25 O &hEER G (Co)
 |No. 3+19. 2 1.90] 5.50 10.2 5.50 10.2 5.50 10.2 = m
B [No.3+19.2 6. 00 6. 00 6. 00 m
ot 0.80[  6.00 4.8 6. 00 4.8 6. 00 4.8|0 Tah-7 BRiE
B [No. 4 6.00 6.00 6.00 = [ In
F |No. 4+5. 7 5.70  6.00 34.2 6. 00 34.2 6. 00 34.2
B [No.4+5.7 4.20 4.20 4.20 O X
Z |No. 4+48. 1 2. 40 3. 40 9.1 3. 40 9.1 3. 40 9.1 SMEER (328 B W=15cm) 1.0 = 1.0m
H [No.4+8.1 3.60 3.60 3.60
 |No. 4+18.0 9.90[  3.00 32.7 3.00 32.7 3.00 32.7
A [No.4+18.0 3.00 3.00 3.00 O MR (FE T - REEIET)
F |No. 5 2.00[  3.00 6.0 3.00 6.0 3.00 6.0 ANRAEL 0.42%0.42%3.14/4 % 2 = 0.28
B [No.5 3.00 3.00 3.00 VN 0.16%0. 16%3.14/4 * 1 = 0.02
= |No. 5+0. 6 0.60]  3.00 1.8 3.00 1.8 3.00 1.8 ot
(E. P3)
TR A2 (B RACRM )
HEAE PR S
) 25. 8 4.29 110. 6 110. 6 110. 6 nf
PEBR 0.3 0.3
At 110.3 110.3 110.6
SEE IHEAE (nf)

(g 110 110 110

HZHE (nf) t=5cm

As 5.5




ST BESNEBESRTKESHETERS-1)  H

SESR 7 &R A V1 V2 V3
— RWmAER  ADIEE BEUER M
Wi w2 sy + + RC40-0 !
HAEO~B 100 m 100 m 110 m 1.00 m 054 m 054 m 107 m '
HiE@ 180 m 180 m 180 m 324 m 287 m 287 m 573 m ~
HIEG® 100 m 100 m 120 m 100 m 059 m 059 m 117 m =
HIED 2000 m 200 m 180 m 400 m 354 m 354 m 7.08 m Wi
m m m m m m m |
F 126 m 126 m 133 m Ty 175 m 132 m 132 m 262 m !
v wE | B Y
A 003 xE | =B 0.03 oxT
A | A T7E FEX HE
N i S UM T (t=50) (126+126) x 2+ @H | 353 m
S Vi SERBRIREEE30 |15+« 7 @m 123 m?
z %W?Eﬁ'li AsHRALIR({) 18 1Ht=30) 1230 * 003 037 m
- ’:ll‘I: | 3 FEARAE HI 132 * 7 & 92 m
?\*ﬂK v \ V3 = A SR 132 % 7 @R 92 m°
- A I RC40-0 ﬁ AT IE 920 + 920 184 m°
N V2 . T
= AN BiEE |
= | B T({R&H%t=30) 175 % 71 @& 123 m?
z i H A1 & (RC40-0) 262 x 1 @M 183 m’
o i ZEBHE A
Y Y i Y
|



BREFLESIRTKEEMHRIERS-)

AU E
H Bh
; ERAN
HEEANM)
L1 L2 L3 L4 L5 L6
G a5t
t1= 0.05 499 6 125 5121 |lm
t2= 0.10 31.0 31.0 lm
3= 0.0 lm
t1= 005 Vi= 0023 * 0.05 * 512.1 = 05889
t2= 0.10 V2= 0023 * 0.10 * 310 = 00713
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